
¢y•yîû’ !˜öì”Å!Ÿ„þy

1Ð ö„þy!¦þvþéôé19 x!“þ›y!îûîû xyîöì£ !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îÄy£“þ £öìëûöìŠéÐ ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Äç
!ŸÇþyíÅ#öì”îû þ™àþ˜éôéþ™yàþ˜ xîÄy£“þ îûy…yîû vþzöìjöìŸÄ£z ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñéôé~îû ¢)eþ™y“þÐ

2Ð ö„þy!¦þvþ x!“þ›y!îûîû ›öì•Ä !î”Äyœöìëû ßþºy¦þy!î„þ þ™àþ˜éôéþ™yàþ˜ îr• íy„þöìœç !ŸÇþyíÅ#öì”îû x!¦þ¦þyî„þöì”îû ›y•Äöì›
²Ì!“þ ›yöì¢ !›vþéôéövþ !›œ !î“þîû’ „þîûy £öìFŠééÐ !›vþéôéövþ !›öìœîû ¢öìA†£z x!¦þ¦þyî„þöì”îû £yöì“þ “%þöìœ ö”çëûy £öì‰Šé
›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œÐ þ™öìîûîû ›yöì¢ !›vþéôéövþ !›œ ¢‚@ùÌ£ „þîûyîû ¢›ëû x!¦þ¦þyî„þîûy !ŸÇþyíÅ#öì”îû „þîûy ›öìvþœ
xÄy!Q!¦þ!Ýþ Ýþyöìßþñîû vþz_îû†%!œ ›)œÄyëûöì̃ îû ‹˜Ä !ŸÇþ„þéôé!Ÿ!Çþ„þyöì”îû £yöì“þ “%þöìœ !”öì‰Šé˜Ð

3Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃ îû þ™öìí !ŸÇþyíÅ#îûy „þ# „þ# xhsþîûyöìëûîû
¢Á¿%…#˜ £öì‰Šé !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy “þy !‰þ!£«“þ „þîûöì“þ þ™yîûöìî˜ ç ëíyëí îÄîÞíy !˜öì“þ þ™yîûöìî˜Ð

4Ð ›öìvþœ xÄy!Q!¦þ!Ýþ Ýþyßþñ†%!œ öíöì„þ£z îyŠéy£z „þöìîû !î!¦þ§¬ ö×!’îû ‹˜Ä !˜!”ÅTþ›yöì̃ îû ²ÌÙÀþ™e ÷“þ!îû „þîûy £öìëûöìŠéÐ

5Ð !ŸÇþyíÅ#îûy ²ÌÙÀ†%!œîû vþz_îû !œ…öìîÐ

6Ð !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy !î”Äyœöìëû îöì¢£z vþz_îûþ™e†%!œîû ›)œÄyëû̃  „þîûöìî˜Ð

7Ð vþz_îûþ™e†%!œ ›)œÄyëûöì̃ îû ›y•Äöì› !ŸÇþyíÅ#îûy „þy›Ä !Ÿ…˜ ¢y›íÅÄ x‹Åöì̃  „þ“þÝþy ¢šþœ £öìœy “þy !ŸÇþ„þéôé!Ÿ!Çþ„þyîûy
î%Gþöì“þ þ™yîûöìî˜Ð



îy‚œy
¢®› ö×!’
þ™)’Å›y é̃ôé50

1. !àþ„þ vþz_îû!Ýþ öîöìŠé !˜öìëû öœöì…y õ 1 × 5 = 5

1.1 òþ™y†œy †öì’Ÿó †öìÒ †öì’öìŸîû îëû¢

S„þV ~„þöìŸy îŠéîû S…V ö”vþüöìŸy îŠéîû

S†V ~„þöìŸy þ™¤‰þy_îû îŠéîû S†V ”%öìŸy îŠéîû

1.2 òö„þy„þ˜”ó £öìœy

S„þV öÙ»“þþ™p S…V îû=þþ™p

S†V ˜#œþ™p S‡V £œ%” þ™p

1.3 òþ™y!… ¢î „þöìîû îûî îûy!“þ öþ™y£y£zœó éôé „þ!î“þy!Ýþîû îû‰þ!ëû“þy

S„þV xyŸîûyšþ !¢!j„þ# S…V {Ù»îû‰þw !î”Äy¢y†îû

S†V ›”˜öì›y£˜ “þ„ÅþyœA„þyîû S‡V öëy†#w˜yí ¢îû„þyîû

1.4 ×öìå•ëû îûy›y˜¨ ‰þöìRyþ™y•Äyöìëûîû ¢öìA† îûy›!„þA„þîû öî£zöì‹îû þ™!îû‰þëû £ëû

S„þV ö›!”˜#þ™%öìîû S…V î#îû¦)þöì›

S†V î¤y„%þvþüyëû S‡V „þœ„þy“þyëû

1.5 ö…y„þöì̃ îû îy!vþüîû ¢y›öì̃ £z !Šéœ ~„þ!Ýþ

S„þV îÝþ†yŠé S…V £zvþz„þÄy!œþ™Ýþy¢ †yŠé

S†V ˜yîûöì„þœ †yŠé S‡V î„%þœ †yŠé

2. …%î ¢‚öìÇþöìþ™ ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 2 × 10 = 20

2.1 ò“þy xyþ™˜yîû „þ!î“þy Ÿ%̃ öìŠé£z îy ö„þ xyîû þ™vþüöìŠé£z îy ö„þÚó éôôôé ~„þíyîû vþz_öìîû ö×y“þ „þ# îöìœ!Šéöìœ˜Ú

2.2 òMy Native Land, Good nightæó
éôôôé vþzå•,!“þ!Ýþ „þyîû îû‰þ˜y öíöì„þ ö˜çëûy £öìëûöìŠéÚ

2.3 ò~„%þöìŸîû „þ!î“þyóëû ö„þy ä̃ ö„þy ä̃ †yöì̃ îû ¢%öìîûîû ²Ì¢A† îûöìëûöìŠéÚ

2.4 òx“þ îöìvþüy ~„þ‹˜ !ŸÒ#îû „þyöìŠé !ŸÇþyœy¦þ „þöìîû!Šé– xy›yîû ö¢ï¦þy†ÄÐó
éôôôé „þyîû ßþ¿,!“þ‰þyîû’yëû „þí„þ ~„þíy îöìœöìŠé˜Ú

2.5 òö…y„þ˜ xîy„þ £öìëû ö†œÐó éôôôé ö„þy ä̃ „þíy Ÿ%öì̃  ö…y„þ˜ xîy„þ £öìœyÚ

2.6 òxyþ™!˜ xy›yîû ¢öìA† àþyRy „þîûöìŠé˜óÐ éôôôé ö„þy ä̃ „þíyîû xî“þyîû’yöì„þ î=þyîû òàþyRyó ›öì̃  £öìëûöìŠéÚ

2.7 ö‹›¢ ~£z‰þ. „þy!‹ ä̃¢ ö„þ !Šéöìœ˜Ú

2.8 ò~ Šé!î xy!› þ™öìîûç ö”öì…!ŠéóÐ éôôôé ö„þy ä̃ ”,ŸÄî’Å̃ y ²Ì¢öìA† ~„þíy ~öì¢öìŠéÚ

2.9 ò“þyöì”îû îûy‹c ö£îû xÇ%þ] ö„þ›˜ó éôôôé „þyöì”îû îûy‹c ö„þ˜ xÇ%þ] îûöìëûöìŠé îöìœ „þ!î ›öì̃  „þöìîû̃ Ú

2.10 ò˜#îûî ~…yöì̃  x›îû !„þ¡ìy’þ™yvþüyóÐ éôôôé !„þ¡ìy’þ™yvþüyöì„þ òx›îûó îœy £öìëûöìŠé ö„þ˜Ú



3. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû !˜öì‹îû ¦þy¡ìyëû öœöì…y õ 5 × 2 = 10

3.1 ò‹#î˜ £öìî þ™”Ä›ëûó é
ôôôé ‹#î˜ „þ#¦þyöìî þ™”Ä›ëû £öìëû vþzàþöìî îöìœ „þ!î ›öì̃  „þöìîû̃ Ú

3.2 ò„%þ“%þî !›˜yöìîûîû „þíyó îû‰þ˜y‚Ÿ x %̃¢îûöì’ „%þ“%þî !›˜yöìîûîû !˜›Åy’ ÷ìŸœ#îû !î!ŸTþ“þy xyöìœy‰þ˜y „þöìîûyÐ

4. !˜öì”ÅŸ x %̃¢yöìîû vþz_îû ”yç õ 1 × 5 = 5

4.1 ò…y!Ýþ ö”!Ÿ Ÿ·ó îœöì“þ „þ# öîyGþÚ

4.2 ò“þqî Ÿ·ó „þ#¦þyöìî †öìvþü vþzöìàþöìŠéÚ

4.3 x•Åéôé“þê¢› îy ¦þ@Àéôé“þê¢› Ÿöì·îû ”%ó!Ýþ vþz”y£îû’ ”yçÐ

4.4 òîyˆy!œ þ™”!îîû £z‚öìîû!‹ •îûöì̃ îû vþzF‰þyîûöì’ £Éßþºßþºîû!‰þ£« £öìîÐó éôôôé vþz”y£îû’ ”yçÐ

4.5 “þqî ç x•Åéôé“þê¢› Ÿöì·îû þ™yíÅ„þÄ ~„þ!Ýþ vþz”y£îû’ !”öìëû î%!Gþöìëû ”yçÐ

5. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 1 × 5 = 5

5.1 ò}– îû– ¡ì  ~£z !“þ˜ îöì’Åîû þ™öìîûîû Ÿöì·îû ›öì•Ä ˜ > ’ £ëûóÐ éôôôé ²Ì!“þöìÇþöìe ~„þ!Ýþ „þöìîû vþz”y£îû’ ”yçÐ

5.2 ò!þ™“,þ ç ›y“,þ Ÿöì·îû ¢öìA† ßþº¢, Ÿöì·îû öëy† £öìœ ßþº¢,é Ÿöì·îû ²Ìí› ¢ä £ëû ¡ìóÐ éôôôé vþz”y£îû’ ”yçÐ

5.3 ¦þyî²Ì„þyŸ„þ •¹˜Äyd„þ Ÿöì·îû ²Ìöìëûyöì† ~„þ!Ýþ îy„þÄ îû‰þ˜y „þöìîûyÐ

5.4 Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ  > !“þ“þ > ö“þöì“þyÐ

5.5 îy˜y˜ ¢‚öìŸy•˜ „þöìîûy õ þ™)îûÜñyîûÐ

6. þ™e îû‰þ˜y „þöìîûy õ 5

ö“þy›yöì”îû xMþöìœ ~„þ!Ýþ þ™yàþy†yîû Þíyþ™öì̃ îû x %̃öìîûy• ‹y!˜öìëû îÏ„þ vþz§¬ëû̃  xy!•„þy!îûöì„þîû „þyöìŠé ~„þ!Ýþ xyöìî”˜þ™e öœöì…yÐ



ENGLISH
Class VII

Full Marks - 50

SECTION A: READING COMPREHENSION

1. Read the following passage and answer the questions given below:

We would find a hammer for him, and then he would have lost sight of the mark he had made on the wall,
where the nail was to go in. Each of us had to get up on the chair beside him, and see if we could find it. We
would each discover it in a new place, and he would call us all fools.

Trying to reach a point three inches beyond what was possible for him to reach, the string would slip, and
down he would slide on to the piano.

A. Rearrange the following sentences: 1 × 5 = 5

i. Each of us would discover a new place.
ii. The hammer was found.
iii. He fell on to the piano.
iv. Everyone has to get up on the chair beside him.
v. Uncle Podger would lose sight of the mark.

B. Answer the following questions: 2 × 3 = 6

(a) Why was it necessary for each of them to get up on the chair beside him?
(b) Why did Uncle consider each of them to be fools?
(c) How did Uncle Podger fall on the piano?

2. Read the passage carefully and answer the questions that follow:

You know of course that our earth is very, very old millions and millions of years old. And for a long long
time there were no men or women living in it, before the men came there were only animals, and before the
animals there was a time when no kind of life existed on the earth. It is difficult to imagine this world of ours
which is so full today of all kinds of animals and men, to be without them. But scientists and those who have
studied and thought a great a deal about these matters tell us that there was a time when the earth was too hot
for any living being to live on it.

Answer the following questions in complete sentences: 2 × 3 = 6

(i) How old is the earth?
(ii) Describe the earth before man existed.
(iii) Why was there no life on earth?

SECTION B:  GRAMMAR AND VOCABULARY

3. Underline the nominal compounds in the following sentences: 1 × 4 = 4

(a) Since it is raining, you should wear the raincoat.
(b) Do you know how to use the washing machine?
(c) Never waste drinking water.
(d) There is not a single oil pump in our area.



4. Select the correct homophone from the brackets and fill in the blanks: 1 × 4 = 4

(a) Akbar, the great Mughal emperor, _____________ for forty-nine years. (reined/reigned)
(b) Anamika loves to have_____________. (curd/card)
(c) Sania is too ____________ to move out of doors. (week/weak)
(d) Do you like to watch the TV _____________? (cereals/serials)

5. Do as directed: 1 × 5 = 5

(i) The cheetah is the fastest animal. (Use Positive degree of the adjective)
(ii) Very few queens were as powerful as Elizabeth I. (Use Superlative degree)
(iii) No other girl of our school is so pretty as Tania. (Use Comparative degree)
(iv) His application was rejected. (Replace the underlined word with its antonym)
(v) Don't eat the rotten apples. (Identify the participial adjective)

6. Match column A with column B: 1 × 6 = 6

A B
(i) Philatelist An artist who makes sculptors
(ii) Atheist One who has the negative outlook in life
(iii) Sculptor A place where bees are kept
(iv) Apiary Certain to happen
(v) Pessimist One who collects stamps
(vi) Inevitable One who does not believe in the existence of God

SECTION C: WRITING

7. Suppose your cousin has never been to your village. Write a letter (in about 70 words) to him/her describing
your village and inviting him/her to visit your village. 7

8. Write the summary of the given passage: 7

The constable came. He took me by the hand and pushed me out. My luggage was also taken out. I
refused to go to the other compartment and the train steamed away. I went and sat in the waiting room, keeping
my hand-bag with me, leaving the other luggage where it was. The railway authorities had taken charge of it.
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˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû öœöì…y õ

1. î£%›%…# vþz_îû•›Å# ²ÌÙÀ SMCQsV 1 × 8 = 8
(i) ö„þy˜!Ýþ !e¦%þöì‹îû ¢îÅ¢›“þyîû Ÿ“Åþ ˜ëû éôôôé

SaV îy£%éôéîy£%éôéîy£% SbV îy£%éôéö„þy’éôéîy£%
ScV ö„þy’éôéö„þy’éôéîy£% SdV ö„þy’éôéö„þy’éôéö„þy’

(ii)
49
4

 î†Åöì¢!›. öÇþešþœ !î!ŸTþ î†ÅöìÇþöìeîû ~„þ!Ýþ îy£%îû ÷”‡ÅÄ £öìî

SaV
49
4 SbV

7
2

 ö¢!›.

ScV 2 ö¢!›. SdV 7 ö¢!›.

(iii) 1.69 éôé~îû î†Å›)œ £öìœy
SaV 13 SbV 1.3
ScV 0.13 SdV 13.03

(iv) xy =
SaV (x + y)2 – (x – y)2 SbV (x + y)2 + (x – y)2

ScV
22

2
yx

2
yx

⎟
⎠
⎞

⎜
⎝
⎛ −−⎟

⎠
⎞

⎜
⎝
⎛ +

SdV
22

2
yx

2
yx

⎟
⎠
⎞

⎜
⎝
⎛ −+⎟

⎠
⎞

⎜
⎝
⎛ +

SvV ë…˜ ö„þyöì̃ y öÝþÆ̃  ö„þyöì̃ y ö¢“%þ x!“þ„Êþ› „þöìîû “þ…˜ öÝþÆ̃ !Ýþöì„þ x!“þ„Êþ› „þîûöì“þ £öìî

SaV öÝþÆ̃ !Ýþîû !˜öì‹îû ÷”‡ÅÄ SbV ö¢“%þîû ÷”‡ÅÄ

ScV öÝþÆ̃ !Ýþîû !˜öì‹îû ÷”‡ÅÄ + ö¢“%þîû ÷”‡ÅÄ SdV ö¢“%þîû ÷”‡ÅÄ – öÝþÆ̃ !Ýþîû !˜öì‹îû ÷”‡ÅÄÐ

SviV !e¦%þ‹y„,þ!“þ öÇþöìeîû öÇþešþœ =

SaV SÓy£%Ó˚ ˜îá≈ƒV
2 SbV Óy£%Ü%!úÓ˚ ˜î Ï̂á≈ƒÓ˚ ¢õ!T˛

ScV 2
1

   S¶)̨ !õÓ˚ ˜îá≈ƒ + v˛zFâ˛ì˛yV SdV  2
1

  ¶)̨ !õÓ˚ ˜îá≈ƒ × v z̨Fâ˛ì˛y–

SviiV a2 – b2 =
SaV (a+b)2 SbV (a–b)2

ScV  (a+b) (a–b) SdV (a+b)2 + (a–b)2–

SviiiV                                     îûyhßþy¢£ ‹!›îû ÷”‡ÅÄ ~î‚ îûyhßþy îyöì” ‹!›îû ²ÌÞí £öìœy ëíy„Êþöì›

SaV 23 !õ.ñ 21 !õ. SbV 29 !õ.ñ 21 !õ.

ScV 26 !õ.ñ 21 !õ. SdV 26 !õ.ñ 15 !õ.–

21 !›.

3 !› ‰þçvþüy îûyhßþy
20 !›
‹!›

3
!›.



2. ¢“þÄ/!›íÄy (T/F) öœöì…y õ 1 × 8 = 8

SiV (x + y)2 éôé~îû ¢)e öíöì„þ (x – y)2éôé~îû ¢)e !˜’Åëû „þîûöì“þ yéôé~îû þ™!îûîöì“Åþ (– y) !œ…öì“þ £öìîÐ
SiiV (4 – x) (x – 4) = 16 – x2

SiiiV !‰þöìe– ∠1 ç ∠2 þ™îûßþ™îû x %̃îû)þ™ ö„þy’Ð

SivV !‰þöìe– !î¡›îy£% Δ ABCéôé~îû ~„þ!Ýþ vþzF‰þ“þy ADÐ AD !e¦%þ‹!Ýþîû ~„þ!Ýþ ›•Ä›yÐ

SvV î%!›˛ hfl˛Ω˛ !â˛eˆÏÑ˛ ˛ôyüy˛ôy!ü ~§ˆÏÑ˛ î%!›˛ ì˛Ìƒ ¢£ˆÏã ì%˛úòy Ñ˛Ó˚yÓ˚ ãòƒ ˆÎ !â˛e x§yÑ˛y £Î˚ ˆ¢£z !â˛e!›˛ £ˆÏúy !mhfl˛Ω˛

ˆúÖ–

SviV ²Ìí› öÝþÆöì̃ îû †!“þöìî† x !„þ!›./‡rÝþy ~î‚ !m“þ#ëû öÝþÆöì̃ îû †!“þöìî† y !„þ!›./‡rÝþyÐ öÝþÆ̃  ”%!Ýþ þ™îûßþ™îû !îþ™îû#“þ !”öì„þ
‰þœöìœ 1 ‡rÝþyëû ö›yÝþ ëyöìî (x–y) !„þ!›.Ð

SviiV !â˛ Ï̂eñ ∠1 Á ∠2, ˆÑ˛yí ˆãyv˛̧y Ï̂Ñ˛ ~Ñ˛yhs˛Ó̊ ˆÑ˛yí Óúy £Î̊–

SviiiV  xéôôé~îû öëöì„þyöì̃ y ›yöì̃ îû ‹˜Ä– (x+5)×(x+3)=x2+8x+15 éôôé~îû ¢›y˜ !‰þöì£«îû ”%þ™yöìŸ ›y˜ ¢›y˜ £ëûÐ “þy£z ~!Ýþ
~„þ!Ýþ xöì¦þ”Ð

3. ¢‚!Çþ® vþz_îû•›Å# ²ÌÙÀ õ 2 × 6 = 12
(i) †!’öì“þîû ¦þy¡ìyëû ¢›¢Äy!Ýþ £öìœy– ¢›ëû S!›!˜ÝþV ”)îûc S!›ÝþyîûV

1 150
25 x

†!“þöìî† ~„þ£z íy„þöìœ ¢›ëû ç ”)îûöìcîû ¢›y %̃þ™y!“þ ¢Á™öì„Åþîû ¢y£yöìëÄ xéôé~îû ›y˜ !˜’Åëû „þöìîûyÐ
(ii) îŠéîû 2009 2010

þ™vþüyîû î£z 1200 800
†öìÒîû î£z 1400 1100

(iii) m + m
1

 = – P £öìœ– ö”…yç öë– 2P
m
1m 2

2
2 −=+

SivþV √2–éôôé~îû ”%£z ”Ÿ!›„þ Þíy˜– þ™ëÅhsþ xy¢§¬ ›y˜ !˜’Åëû „þöìîûyÐ

SvV !e¦%þöì‹îû ¢îÅ¢›“þyîû Ÿ“Åþ†%!œ öœöì…yÐ
SviV x+y=5 ~î‚ x–y=1 £öìœ– 8xy (x2+y2)éôôé~îû ›y˜ !˜’Åëû „þöìîûyÐ

4. (i) ¢‚…Äyöìîû…yëû (6) + (–2)éôéö„þ ö”…yçÐ  4
(ii) ²Ìí› î#‹†y!’!“þ„þ ¢‚…Äy›yœyöì„þ !m“þ#ëû î#‹†y!’!“þ„þ ¢‚…Äy›yœy !”öìëû ¦þy† „þöìîû ¦þy†šþœ !˜’Åëû „þöìîûy õ 3

14x4y6 – 21x3y5, – 7x3y4– öë…yöì̃  x ≠ 0, y ≠ 0
5. (i) ABC ~„þ!Ýþ !e¦%þ‹ x¤yöì„þy ëyîû BC = 5.5 ö¢!›– ∠ABC = 60º ç ∠ACB = 30º Ð 5

(ii) „þ!îû›‰þy‰þyîû xyëû“þöìÇþey„þyîû ‹!›îû ÷”‡ÅÄ ²ÌöìÞíîû 2 †%’ ~î‚ ~£z ‹!›îû öÇþešþœ 578 î†Å!›ÝþyîûÐ „þ!îû›‰þy‰þyîû
‹!›!Ýþîû ÷”‡ÅÄ– ²ÌÞí ç þ™!îû¢#›y !˜’Åëû „þöìîûyÐ 5

(iii) 90 !›Ýþyîû œÁºy ~„þ!Ýþ öîûœ†y!vþü ~„þ!Ýþ hßþ½þöì„þ 25 ö¢öì„þöìuþ x!“þ„Êþ› „þîûöìœyÐ öîûœ†y!vþüîû †!“þöìî† ‡rÝþyëû „þ“þ
!„þöìœy!›Ýþyîû !˜’Åëû „þöìîûyÐ 5

A

B D C

) →
→→

→
→

→2 1(

1

2

“þy!œ„þy!Ýþîû ¢y£yöìëÄ ~„þ!Ýþ !mhßþ½þ öœ…!‰þe xA„þ˜ „þöìîûyÐ



þ™!îûöìîŸ ç !îKþy˜
¢®› ö×!’
þ™)’Å›y˜ éôé 50

1. !àþ„þ  vþz_îû !˜îÅy‰þ˜ „þöìîûy õ 1 × 6 = 6

1.1 x²Ì¦þ îhß$þ!Ýþ £öìœy éôôôé

S„þV ö›y›îy!“þîû !Ÿ…y

S…V ¢)ëÅ

S†V ‰¤þy”

S‡V ö‹y˜y!„þÐ

1.2 öë!Ýþ ‹#îyÙÂ ‹µyœy!˜ ˜ëû ö¢!Ýþ £öìœy éôôôé

S„þV „þëûœy

S…V öþ™öìÝþÆyœ

S†V !vþöì‹œ

S‡V ö†yîîû †Äy¢Ð

1.3 vþz!qöì”îû ›)öìœîû vþ†yîû Ý%þ!þ™îû ›öì“þy x‚öìŸîû !àþ„þ çþ™öìîûîû ‹yëû†y öë…yöì̃  ö„þyöì̃ y öîû¤yëûy íyöì„þ ˜y ö¢!Ýþ £öìœy éôôôé

S„þV ›)œe xMþœ

S…V î•Å̃ Ÿ#œ xMþœ

S†V Þíyëû# xMþœ

S‡V ›)œöìîûy› xMþœÐ

1.4 öëöìÇþöìe xyöìœyîû !î!Çþ® ²Ì!“þšþœ˜ ‡öìÝþ ˜y ö¢!Ýþ £öìœy éôôôé

S„þV ö”ëûyœ

S…V „þy†‹

S†V „þyþ™vþü

S‡V xyëû̃ yÐ

1.5 öë!Ýþ þ™!îûöìîŸîyr•î Ÿ!=þîû vþzê¢ ˜ëû ö¢!Ýþ £öìœy éôôôé

S„þV ¢)ëÅ

S…V îyëû%²Ìîy£

S†V ‹#îyÙÂ ‹µyœy!˜

S‡V ÷‹î †Äy¢Ð



1.6 îû)þ™yhsþ!îû“þ x•Åîyëûî#ëû „þy[þ ö”…y ëyëû öë vþz!qöì” ö¢!Ýþ £öìœy éôôôé

S„þV xyœ%

S…V „þ‰%þ!îûþ™y˜y

S†V öîœ

S‡V „%þ›öìvþüyÐ

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 £z!ßþföì“þ “þ!vþüê²Ìîyöì£îû éôôôééôôôééôôôééôôôééôôôééôôôé šþœyšþöìœîû ²Ìöìëûy† „þîûy £ëûÐ

2.2 xyöì›îû xy¤!Ýþ éôôôééôôôééôôôééôôôééôôôééôôôé  ö‘þöì„þ îûyöì…Ð

2.3 ~¤öì‰þyvþü £öìœy éôôôééôôôééôôôééôôôééôôôééôôôé  šþöìœîû ~„þ!Ýþ vþz”y£îû’Ð

3. !àþ„þ îyöì„þÄîû þ™yöìŸ òó xyîû ¦%þœ îyöì„þÄîû þ™yöìŸ òó !‰þ£« ”yç õ 1 × 6 = 6

3.1 ö„þyöì̃ y îhß$þöì„þ “þyþ™ !”öìœ “þyîû vþz¡Ö“þyîû þ™!îûî“Åþ˜ £öìî£zÐ

3.2 !¦þÝþy!›˜ Déôé~îû x¦þyöìî öî!îûöìî!îû öîûy† £ëûÐ

3.3 „þ!àþ˜ ö¢y!vþëûy› ö„Ïþyîûy£zöìvþîû ›öì•Ä x’%îû ö„þyöì̃ y x!hßþc ö˜£zÐ

3.4 ö„þyöì̃ y ”[þ‰%þÁºöì„þîû ‹Äy!›!“þ„þ ÷”‡ÅÄ “þyîû ö‰þïÁº„þ ÷”öì‡ÅÄîû ö‰þöìëû ¢y›y˜Ä „þ› £ëûÐ

3.5 „þyöì[þîû öë x‚Ÿ öíöì„þ Ÿy…y öîöìîûyëû “þyöì„þ þ™îÅ›•Ä îöìœÐ

3.6 ö“¤þ“%þœ þ™y“þy £öìœy ~„þ„þ þ™öìeîû ~„þ!Ýþ vþz”y£îû’Ð

4. ¢‚!Çþ® vþz_îû ”yç õ 1 × 3 = 3

4.1 ¢›#„þîû’!Ýþ îÄyœyª „þöìîû öœöì…y õ P4 + .......O2 → P4O10

4.2 ›y˜îöì”öì£ xyöìëûy!vþöì̃ îû ~„þ!Ýþ „þy‹ vþzöìÍÔ… „þöìîûyÐ

4.3 xy› !”öìëû ÷“þ!îû ~„þ!Ýþ ²Ì!„Êþëûy‹y“þ …yîyöìîûîû vþz”y£îû’ ”yçÐ

5. ~„þ!Ýþ îy ”%!Ýþ îyöì„þÄ vþz_îû ”yç õ 2 × 7 = 14

5.1 !„þvþz!²Ì„þ ö„Ïþyîûy£zöìvþîû ‹œ#ëû oîöì’ !‹öìA„þîû Ý%þ„þöìîûy öëy† „þîûöìœ „þ# •îûöì̃ îû !î!„Êþëûy £öìîÚ !î!„Êþëûyîû ¢›#„þîû’
öœöì…yÐ

5.2 „þ# „þ# vþzþ™yöìëû !šþÎÝþyîû ëöìsþfîû ¢y£yëÄ Šéyvþüy£z îy!vþüöì“þ !îŸ%å• þ™y˜#ëû ‹œ ÷“þ!îû „þîûy ëyëûÚ

5.3 þ™,!íî# öë !˜öì‹£z ~„þÝþy ‰%þÁº„þ “þyîû þ™öìÇþ „þ# ²Ì›y’ xyöìŠéÚ

5.4 „þ# „þ# vþzþ™yöìëû vþz!qöì” ßþºþ™îûy†öìëy† ‡Ýþöì“þ þ™yöìîûÚ

5.5 ‰þyœ% œy£zöì̃ îû „þy‹ „þîûyîû ¢›ëû £zöìœ„þ!ÝþÆ„þ !›!ßþfîû „þ#öì¢îû çþ™îû ”¤y!vþüöìëû „þy‹ „þîûy vþz!‰þ“þ éôôôé öœy£yîû ö‰þëûyîû ˜y
„þyöìàþîû Ý%þœÚ ö„þ˜Ú

5.6 vþz!qöì”îû ›)öìœîû ²Ì•y˜ „þy‹ „þ# „þ#Ú

5.7 £yöì“þ !ßþ™!îûÝþ îy £zíyîû ‘þyœöìœ àþyuþy œyöì† ö„þ˜Ú



6. !“þ˜éôé‰þyîû!Ýþ îyöì„þÄ vþz_îû ”yç õ 3 × 6 = 18

6.1 öë vþz¡Ö“þyëû ö¢œ!¢ëûy¢ ç šþyöìîû̃ £y£zÝþ ößþñöìœîû þ™yàþ ¢›y˜ £öìî “þy !˜’Åëû „þöìîûyÐ

6.2 ö„þyëûy!Ÿçîû„þîû öîûy† ö„þ˜ £ëû ~î‚ ~£z öîûyöì† „þ# „þ# œÇþ’ ö”…y ëyëûÚ

6.3 ~„þ!Ýþ !‰þ!£«“þ !‰þöìeîû ¢y£yöìëÄ ‡˜ ›y•Ä› öíöì„þ œ‡% ›y•Äöì› ²Ì!“þ¢îûöì’îû öÇþöìe xyöìœy„þîû!ÙÂîû †!“þþ™í ö„þ›˜
£öìî “þy ö”…yçÐ

6.4 ¢yþ™ „þ#¦þyöìî òö‹„þî¢˜¢ x†ÄyÅ̃ óéôôôé ~îû ¢y£yöìëÄ “þyîû ‰þyîûþ™yöìŸîû þ™!îûöìîŸ ¢Áºöìr• ‹y˜öì“þ þ™yöìîûÚ

6.5 ¢)!‰þ!Šéo „þÄyöì›îûyîû !Šéo!Ýþ îöìvþüy „þîûy £öìœ ²Ì!“þ„,þ!“þîû „þ# þ™!îûî“Åþ˜ £öìîÚ îÄy…Äy „þöìîûyÐ

6.6 ¢›%öìoîû ›yŠé „þ#¦þyöìî !˜öì‹îû ö”öì£ ‹öìœîû þ™!îû›y’ ßþºy¦þy!î„þ îûyöì… îÄy…Äy „þöìîûyÐ



þ™!îûöìîŸ ç £z!“þ£y¢
¢®› ö×!’

þ™)’Å›y˜ éôé 50

1. ò„þó hßþöì½þîû ¢yöìí ò…ó hßþ½þ ö›œyç õ 1 × 4 = 4

„þéôéhßþ½þ …éôéhßþ½þ

1.1 …!œšþyîû x %̃öì›y”˜ S„þV !†ëûy¢vþz!j˜ îœî˜
1.2 !¢‹”y ç þ™y£zî¢ S…V „,þ¡Ööì”î îûyëû
1.3 îy‹yîû”îû !˜ëûsþf’ S†V £zœ“%þê!›Ÿ
1.4 xy›%=þ›yœÄ” S‡V xyœyvþz!j˜ …œ!‹

2. öî›y˜y˜ Ÿ·!Ýþîû !˜öì‰þ ”y† ”yç ƒ 1 × 4 = 4
2.1 !î‹ëûyœëû– ”!hsþ”%†Å– ²Ìí› îûy‹îûy‹– ²Ìí› îûyöì‹w
2.2 îöìîûw– £!îûöì„þœ– „þöì̃ ï‹– ö†ïvþü
2.3 £œyëû%•– ‹ëûöì”î– ö†yî•Å̃ – vþz›yþ™!“þ•îû
2.4 ²Ì“þyþ™y!”“þÄ– ö„þ”yîû îûyëû– £zŸy …y˜– ÷îîû› …y˜

3. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 4 = 4
3.1 îöì̈ †y˜éôé£zéé!‰þ£œ†y!˜îû ¢”¢Ä !Šéöìœ˜ ¢%œ“þy˜ éôôôééôôôééôôôééôôôééôôôééôôôééôôôééôôôé Ð
3.2 îy‚œyîû ²Ìí› ßþºy•#˜ ¢%œ“þy˜ !Šéöìœ˜ éôôôééôôôééôôôééôôôééôôôééôôôééôôôééôôôé Ð
3.3 öþ™y“Å%þ!†‹ þ™ëÅÝþ„þ éôôôééôôôééôôôééôôôééôôôééôôôééôôôééôôôé !î‹ëû̃ †îû þ™!îû¼›˜ „þöìîû̃ Ð
3.4 !î‹ëû̃ †îû þ™îûy!‹“þ £öìëû!Šéœ éôôôééôôôééôôôééôôôééôôôééôôôééôôôééôôôé ë%öìå•Ð

4. ¢“þÄ îy !›íÄy !˜’Åëû „þöìîûy õ 1 × 4 = 4
4.1 ò”y†ó ç ò£%!œëûyó îÄîÞíy ‰þyœ% îûyöì…˜ öŸîûŸy£Ð
4.2 1576 !…ÊÞÝþyöì· £œ!”‡y!Ýþîû ë%öìå• xy„þîîû îûy˜y ²Ì“þyþ™öì„þ þ™îûy!‹“þ „þöìîû!Šéöìœ˜Ð
4.3 ›˜¢î”y!îû ç ‹yëû!†îû”y!îû îÄîÞíy î‚Ÿy %̃„Êþ!›„þ !ŠéœÐ
4.4 îûy!‹ëûy “þyîû ›%oyëû !˜öì‹öì„þ ò¢%œ“þy˜ó îöìœ ”y!î „þöìîûöìŠé˜Ð

5. ”%£zéôé!“þ˜!Ýþ îyöì„þÄ vþz_îû ”yç õ 2 × 2 = 4
5.1 ò”#˜éôé£z £zœy!£ó „þ#Ú
5.2 ò›˜¢îó „þ#Ú

6. ‰þyîûéôéþ™¤y‰þ!Ýþ îyöì„þÄ vþz_îû ”yç õ 3 × 5 = 15
6.1 þ™yœéôéö¢˜ ë%öì† ö„þ›˜ ¦þyöìî „þîû xy”yëû „þîûy £“þÚ
6.2 ö¢˜ îûy‹yîûy !„þ ¢y!£öì“þÄîû þ™,Ûþöìþ™y¡ì„þ !Šéöìœ˜Ú
6.3 £z„þ“þy îÄîÞíy „þ#Ú
6.4 …œ!‹ !î²Õî îœöì“þ „þ# öîyGþÚ
6.5 ò”y!Çþ’y“þÄ Çþ“þó îœöì“þ „þ# öîyöìGþyÚ

7. xyÝþéôé”Ÿ!Ýþ îyöì„þÄ vþz_îû ”yç õ 5 × 3 = 15
7.1 î…!“þëûyîû …œ!‹îû îy‚œy xy„Êþ›öì’îû þ™îû îy‚œyöì“þ !„þ !„þ þ™!îûî“Åþ˜ ‡öìÝþ!ŠéœÚ
7.2 „,þ¡Ööì”î îûyëûöì„þ ö„þ˜ !î‹ëû̃ †öìîûîû ö×Ûþ Ÿy¢„þ îœy £ëûÚ
7.3 öŸîûŸyöì£îû öëéôéö„þyöì̃ y ”%!Ýþ ²ÌŸy¢!˜„þ ¢‚ßþñyîû ¢Á™öì„Åþ ¢‚öìÇþöìþ™ öœöì…yÐ



þ™!îûöìîŸ ç ¦)þöì†yœ
¢®› ö×!’

þ™)’Å›y˜é ôé 50

1. !î„þÒ†%!œ öíöì„þ !àþ„þ vþz_îû!Ýþ !˜îÅy‰þ˜ „þöìîû öœöì…y õ 1 × 9 = 9

1.1 ¢)öìëÅîû vþz_îûyëûöì̃ îû ¢›ëû„þyœ éôôôé

„þV 21 öŸ ‹%̃  öíöì„þ 22 öŸ !vþöì¢Áºîû

…V 23 öŸ ö¢öì²WzÁºîû öíöì„þ 21 öŸ ›y‰Åþ

†V 22 öŸ !vþöì¢Áºîû öíöì„þ 21 öŸ ‹%̃

‡V 21 öŸ ›y‰Åþ öíöì„þ 23 öŸ ö¢öì²WzÁºîû

1.2 ö„þyöì̃ y ›y˜!‰þöìe ¢›‰þyþ™öìîû…y†%!œ …%î „þyŠéy„þy!Šé xîÞíy˜ „þîûöìœ ö¢…yöì̃  éôôôé

„þV îyëû%îû ‰þyþ™ öî!Ÿ £ëû

…V îyëû%îû ‰þyöìþ™îû þ™yíÅ„þÄ öî!Ÿ £ëû

†V îyëû%îû ‰þyþ™ „þ› £ëû

‡V îyëû%îû ‰þyöìþ™îû þ™yíÅ„þÄ „þ› £ëû

1.3 öÝþy!„þç éôé £zöìëûyöì„þy£y›y !ŸÒyMþöìœîû vþz§¬!“þîû x˜Ä“þ› ²Ì•y˜ „þyîû’ £öìœy éôôôéé

„þV …!˜‹ ç Ÿ!=þ ¢Á™öì”îû ¢£‹œ¦þÄ“þy

…V ßþºÒ ‹˜‡˜c

†V vþz§¬“þ ²Ìë%!=þ ç ”Çþ ×›

‡V ¢›%o öíöì„þ ”)îûî“Åþ# Þíyöì̃  xîÞíy˜

1.4 ¦)þ¦þy† ¦¤þy‹ ö…öìëû vþzþ™öìîûîû !”öì„þ vþzöìàþ öë þ™îÅ“þ ¢,!Tþ „þöìîû “þyîû vþz”y£îû’ £öìœyé éôôôé

„þV ¢y“þþ™%îûy

…V ö¦þy‹

†V !„þ!œ›yOyöìîûy

‡V !£›yœëû

1.5 !àþ„þ ö‹yvþüy!Ýþ !˜îÅy‰þ˜ „þöìîûy éôôôé

„þV ˜”#îû vþzF‰þ²Ìîy£ éôôôéé ¦)þ!›îû ‘þyœ „þ›

…V ˜”#îû vþzF‰þ²Ìîy£ ééôôôéé ˜”#îû ²Ì•y˜ „þy‹ Çþëû

†V ˜”#îû !˜Á¬²Ìîy£ ééôôôéé ¦)þ!›îû ‘þyœ öî!Ÿ

‡V ˜”#îû !˜Á¬²Ìîy£ ééôôôéé ˜”#îû ²Ì•y˜ „þy‹ î£˜

1.6 xy!šÊþ„þy ›£yöì”öìŸîû ›yGþ îîûyîîû þ™)îÅéôéþ™!Øþöì› !îhß+þ“þ „þyÒ!˜„þ öîû…y!Ýþ £öìœy éôôôéé

„þV „þ„ÅþÝþ„Êþy!hsþ öîû…y

…V ›„þîû„Êþy!hsþ öîû…y

†V ›)œ›•Äöìîû…y

‡V !î¡ì%îöìîû…y



1.7 òþ™,!íî#îû Šéy”ó öë ›yœ¦)þ!›öì„þ îœy £ëû ö¢!Ýþ £öìœyéôôôé

„þV öŠéyöìÝþy˜y†þ™%îû ›yœ¦)þ!›

…V ›yœî ›yœ¦)þ!›

†V þ™y›#îû ›yœ¦)þ!›

‡V œy”y… ›yœ¦)þ!›

1.8 ˜”#îû vþzF‰þ ²Ìîyöì£ ‘l’ xy„,þ!“þîû vþzþ™“þÄ„þy ¢,!Tþîû x˜Ä“þ› ²Ì•y˜ „þyîû’ £öìœyéôôôé

„þV ¦)þ!›îû ‘þyœ „þ› íy„þy

…V vþzþ™˜”#îû ¢‚…Äy öî!Ÿ íy„þy

†V ˜”#îû !˜Á¬Çþöìëûîû Çþ›“þy öî!Ÿ £çëûy

‡V ˜”#îû þ™yÙ»ÅÇþöìëûîû Çþ›“þy öî!Ÿ £çëûy

1.9 öë îû)þ™yhsþ!îû“þ !Ÿœy !î!¦þ§¬ ö¢ï• !˜›Åyöì’ „þyöì‹ œyöì† “þy £öìœyéôôôé

„þV ‰%þ˜yþ™yíîû

…V „þy”yþ™yíîû

†V îÄy¢ÎÝþ

‡V ›yöìîÅœ

2. Ÿ)̃ ÄÞíy˜ þ™)îû’ „þöìîûy õ 1 × 3 = 3

2.1 !˜îûÇþöìîû…y öíöì„þ ö›îû%îû !”öì„þ xÇþöìîû…yîû þ™!îû!• „Êþ›Ÿé
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôôé

íyöì„þÐ

2.2  îyëû%öì“þ ‹œ#ëû îyöìÜ™îû þ™!îû›y’ „þöì› ö†öìœ îyëû%îû ‰þyþ™é
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôôé

þ™yëûÐ

2.3 ~!Ÿëûy ›£yöì”öìŸîû ~„þ!Ýþ vþz_îûîy!£˜# ˜”# £öìœy 
ôôôééôôôééôôôééôôôééôôôééôôôééôôôéôôôééôôôééôôôééôôôééôôôééôôôééôôôé

Ð

3. îy„þÄ!Ýþ ¢“þÄ £öìœ ò!àþ„þó ~î‚ x¢“þÄ £öìœ ò¦%þœó öœöì…yõ 1 × 3 = 3

3.1 îÄî!FŠé§¬ ›yœ¦)þ!›îû ~„þ!Ýþ vþz”y£îû’ £öìœy öŠéyÝþ˜y†þ™%îû ›yœ¦)þ!›Ð

3.2 Ÿ#“þœ ç Ÿ%Üñ ‹œîyëû%öì“þ ›y!Ýþ ¢,!Tþ £öì“þ öî!Ÿ ¢›ëû œyöì†Ð

3.3 ‹%œy£z ›yöì¢ vþz_îû xy!šÊþ„þyëû ë…˜ @ùÌ#Ü¿„þyœ– ”!Çþ’ xy!šÊþ„þyëû “þ…˜ Ÿ#“þ„þyœÐ

4. hßþ½þ ö›œyçõ 1 × 3 = 3

ò„þó hßþ½þ ò…ó hßþ½þ

4.1 š%þ!‹ëûy›y i) xyöì@Àëû !Ÿœy

4.2 @ùÌy˜y£zÝþ ii) ˜”#îû ›•Ä²Ìîy£

4.3 !›öìëûuþyîû iii) xyöì@Àëû þ™îÅ“þ

5. ¢‚!Çþ® vþz_îû ”yç õ 2 × 4 = 8

5.1 ö„þy˜ “þy!îû…öì„þ „þ„ÅþÝþ ¢‚„Êþy!hsþ îœy £ëû ç ö„þ˜Ú

5.2 xÇþöìîû…y ç oy!‡›yöìîû…yîû ~„þ!Ýþ „þöìîû ÷î!ŸTþÄ vþzöìÍÔ… „þöìîûyÐ

5.3 ¢%vþzF‰þ !£›yœëû þ™îÅ“þ „þ#¦þyöìî xy›yöì”îû ö”öìŸîû ‹œîyëû%öì„þ ²Ì¦þy!î“þ „þöìîûÚ

5.4 ¦)þ!›îû ‘þyœ ç vþzF‰þ“þyîû !¦þ!_öì“þ ›yœ¦)þ!› ç ¢›¦)þ!›îû þ™yíÅ„þÄ !˜îû)þ™’ „þöìîûyÐ



6. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 3 × 3 = 9

6.1 ö›îû% xMþœ ç !˜îûÇþ#ëû xMþöìœ îyëû%îû vþz¡Ö“þyîû “þyîû“þ›Ä „þ#¦þyöìî ”%£z xMþöìœîû îyëû%‰þyþ™öì„þ !˜ëûsþf’ „þöìîû “þy îÄy…Äy
„þöìîûyÐ

6.2 ›y!Ýþîû ”y˜yîû xy„þyöìîûîûû vþzþ™îû !¦þ!_ „þöìîû ›y!Ýþîû ö×!’!î¦þy† „þöìîûyÐ ²Ì!“þ!Ýþ ö×!’îû ~„þ!Ýþ „þöìîû ÷î!ŸTþÄ öœöì…yÐ

6.3 ˜#œ˜öì”îû vþzþ™îû „þ# vþzöìjöìŸÄ xyöì¢yëûy˜ î¤y• !˜›Åy’ „þîûy £öìëû!ŠéœÚ

7. ˜#öì‰þîû ²ÌÙÀ†%!œîû vþz_îû ”yç õ 5 × 3 = 15

7.1 ~!Ÿëûy ›£yöì”öìŸîû !˜îûÇþ#ëû ç vþz¡Ö ›îû% ‹œîyëû% ßþºy¦þy!î„þ vþz!qöì”îû ‰þ!îûeöì„þ „þ#¦þyöìî ²Ì¦þy!î“þ „þöìîû “þy xyöìœy‰þ˜y
„þöìîûyÐ

7.2 xy!šÊþ„þy ›£yöì”öìŸîû !˜îûÇþ#ëû xMþœ ç ¦)þ›•Ä¢y†îû ¢!§¬!£“þ xMþöìœîû ßþºy¦þy!î„þ vþz!q” „þ#¦þyöìî ‹œîyëû% myîûy !˜ëû!sþf“þ
“þy îÄy…Äy „þöìîûyÐ

7.3 ò›y %̃öì¡ìîû ˜y˜y!î• !„Êþëûy„þœyþ™ ˜”#îû vþzþ™îû ö˜!“þîy‰þ„þ ²Ì¦þyî öšþöìœóéôôôé î=þîÄ!Ýþîû ëíyíÅ“þy !î‰þyîû „þöìîûyÐ



ßþºyÞíÄ ç Ÿyîû#îû!ŸÇþy
¢®› ö×!’

þ™)’Å›y˜ éôé 50

SÑ˛V ¢!‡˛Ñ˛ v z̨_Ó˚!›˛ Ï̂Ñ˛ ˆÓ Ï̂äÈ !ò Ï̂Î˚ S√V !â˛£´ îyÁ É 1 × 10 = 10

S1V £zfi›˛ Ï̂ÓAÜú Ñœ̨ yÓ Ñ˛ì˛ ¢y Ï̂ú ≤Ã!ì˛!¤˛ì˛ £Î˚⁄

SiV 1921 SiiV 1911 SiiiV 1920

S2V xƒyÌˆÏú!›˛Ñ ‰̨¢ ü∑!›˛ ˆÑ˛yÌy ˆÌˆÏÑ˛ ~ˆÏ¢ˆÏäÈ⁄È

SiV £zÌyòú SiiV ~ˆÏÌ™ SiiiV xƒyÌúò

S3V ˆõy£òÓyÜyò Ñœ̨ yÓ Ñ˛ì˛ ¢yˆÏú ¢yˆÏ£ÓˆÏîÓ˚ £y!Ó˚ˆÏÎ˚ !ü”˛ â˛ƒy!¡ôÎ˚ò £ˆÏÎ˚!äÈú⁄

SiV  1811 SiiV 1911 SiiiV 1916

S4V ˆõîy!ï Ï̂Ñ˛ƒÓ˚ Ñ˛yÓ˚í Ñ˛#⁄

SiV üÓ˚#Ó˚â˛â≈̨ yÓ˚ xò¶˛ƒy¢ SiiV £Ó˚̂ Ïõy Ï̂òÓ˚ ¢õ¢ƒy

SiiiV ö˛yfi›˛ö%˛v˛ ÖyÁÎ˚y SivV ¢Ó Ñ˛Î˚!›˛

S5V ¢yïyÓ˚íì˛ ˛ô)í≈ÓÎ˚fl˛Ò ˛ô%%Ó%̊°ÏˆÏîÓ˚ ˆîˆÏ£Ó˚ ÁãˆÏòÓ˚ Ñ˛ì˛ üì˛yÇü ˆõî ÌyˆÏÑ˛⁄

SiV 10% SiiV 15%

SiiiV 2% SivV 25%

S6V ˆõîÓ,!Âï Ó%̊ÖˆÏì˛ Ñ˛# Ñ˛Ó˚ˆÏì˛ £ˆÏÓ⁄

SiV üÓ˚#Ó˚â˛â≈˛y SiiV ˛ô!Ó˚!õì˛ ÖyÁÎ˚y

SiiiV ¢!‡˛Ñ˛ ã#Óò Ï̃üú# SivV ¢Ó Ñ˛Î˚!›˛

S7V Öyîƒ ˆÌˆÏÑ˛ ≤ÃyÆ ˆîˆÏ£Ó˚ â˛y!£îyÓ˚ x!ì˛!Ó˚=˛ Ñ˛ƒyˆÏúy!Ó˚ ˆîˆÏ£Ó˚ !Ñ˛ Ó,!Âï á›˛yˆÏì˛ ˛ôyˆÏÓ˚⁄

SiV £,Í!˛ôˆÏ[˛Ó˚ Ñ˛yÎ≈«˛õì˛y Óyv˛¸yÎ˚ SiiV  ˆõîy!ïÑ˛ƒ á›˛yÎ˚

SiiiV fl˛¨yÎ˚%Ó˚ Ñ˛yÎ≈Ñ˛y!Ó˚ì˛y Ó,!Âï Ñ˛ˆÏÓ˚ SivV  £yˆÏv˛¸Ó˚ Ü‡˛ò ¢%î,ë˛¸ Ñ˛ˆÏÓ˚

S8V ~Ñ˛ãò fl ∫̨y¶˛y!ÓÑ˛ Áã Ï̂òÓ˚ !ü«˛yÌ≈#Ó˚ ˆî£¶˛Ó˚ ¢)â˛Ñ˛!›˛ Ñ˛ì˛⁄

SiV 18 !Ñ˛ Ï̂úy@˘Ãyõ/!õ›˛yÓ˚
2

SiiV 18.5 ÈÙÙÙÈ 24.5 !Ñ˛ Ï̂úy@˘Ãyõ/!õ›˛yÓ˚
2

SiiiV 30 ~Ó˚ ˆÓ!ü !Ñ˛ Ï̂úy@˘Ãyõ/!õ›˛yÓ˚
2

S9V Î!î ˆÑ˛yˆÏòy !ü«˛yÌ≈#Ó˚ ˆîˆÏ£Ó˚ Áãò ì˛yÓ˚ fl ∫̨y¶˛y!ÓÑ˛ Áãò Îy £ÁÎ˚y v z̨!â˛ì˛ ì˛yÓ˚ Ñ˛õ £Î˚ ì˛y£ˆÏú Ñ˛# ¢õ¢ƒy ˆîÖy

ˆîÁÎ˚yÓ˚ ¢Ω˛yÓòy ÌyˆÏÑ˛⁄

SiV õï%ˆÏõ£ SiiV ˆÓ˚yÜ ≤Ã!ì˛ˆÏÓ˚yï «˛õì˛y £…y¢ ˛ôyÎ˚

SiiiV ˆõîy!ïÑ˛ƒ

S10V  ˆÑ˛yò‰!›˛ ˆî£¶˛Ó˚ ¢)â˛ˆÏÑ˛Ó˚ ¢)e⁄

SiV Áãò S!Ñ˛ Ï̂úy@˘ÃyõV      
ÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

 

     v z̨Fâ˛ì˛y S!õ›˛yÓ˚V
2
È

SiiV Áãò S!Ñ˛ Ï̂úy@˘ÃyõV      
ÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

 

     v˛zFâ˛ì˛y Sö%˛›˛V
2
È

SiiiV Áãò S˛ôyv z̨u˛V      
ÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

 

     v˛zFâ˛ì˛y Sö%˛›˛V
2
È



SÖV ü)òƒfiÌyò ˛ô)Ó˚í Ñ˛ˆÏÓ˚y É 1 × 9 = 9

S1V ˆÖúy õyò%ˆÏ°ÏÓ˚ _____________ ≤ÃÓ,!_–

S2V !@˘ÃÑ˛ ü∑ _____________ ˆÌ Ï̂Ñ˛ !ãõòy!fi›˛Ñ˛¢ Ñ˛Ìy!›˛ ~ Ï̂¢ Ï̂äÈ–

S3V ˜ãòïõ≈ _____________ õ)ì≈̨  ≤Ãì˛#Ñ˛ !£¢y Ï̂Ó !Óîƒõyò–

S4V ~ò. !¢. !¢.ÈÙÈÓ˚ ______   _______ Ó˚Ç ˆòÔˆÏ¢òy Óy!£ò#Ó˚ ≤Ãì˛#Ñ˛–

S5V È
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

È ˆî£ Á õˆÏòÓ˚ õˆÏïƒ ¢õß∫Î˚¢yïò Ñ˛ˆÏÓ˚ñ Îy fl ∫̨yˆÏfiÌƒÓ˚ ~Ñ˛!›˛ Ü%Ó%̊c˛ô)í≈ !îÑ˛–

S6V ÓƒyÎ˚yõ ˆ˛ô!üÓ˚ 
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

È ≤Ã!ì˛Ñ˛yˆÏÓ˚Ó˚ ˆ«˛ˆÏe ~Ñ˛!›˛ !ÓˆÏü°Ï Ü%Ó˚%c˛ô)í≈ ¶)̨ !õÑ˛y @˘Ã£í Ñ˛ˆÏÓ˚–

S7V ˛ô!Ó˚!õì˛ Öyîƒy¶˛ƒy¢ Á !òÎ˚!õì˛ ÓƒyÎ˚yˆÏõÓ˚ myÓ˚y 
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

È î)Ó˚ Ñ˛Ó˚y ¢Ω˛Ó–

S8V ÎÖò ì˛Öò 
ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ

È ˛ôv ¸̨yÓ˚ x¶˛ƒy¢ ì˛ƒyÜ Ñ˛Ó˚ˆÏì˛ £ˆÏÓ–

S9V ≤Ã!ì˛!îò ˆÎ ˛ô!Ó˚õyí Ñ˛ƒyˆÏúy!Ó˚ ≤ÃˆÏÎ˚yãò ì˛yÓ˚ ˆÌˆÏÑ˛ 2000 Ñ˛ƒyˆÏúy!Ó˚ Ñ˛õ ÖyÓyÓ˚ @˘Ã£í Ñ˛Ó˚ˆÏì˛ â˛y£zˆÏú xÓüƒ£z

ÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙÈÈÙÙÙ
È ˛ôÓ˚yõü≈ !òˆÏì˛ £ˆÏÓ–

SÜV ¢!‡˛Ñ˛ Ó=˛Óƒ!›˛Ó̊ ˛ôy Ï̂ü ¢ì˛ƒ ~ÓÇ ¶%̨ú Ó=˛Óƒ!›˛Ó̊ ˛ôy Ï̂ü !õÌƒy ˆú Ï̂Öy ~ÓÇ ¶%̨ú ÌyÑ˛ Ï̂ú ¢Ç Ï̂üyïò Ñ˛ Ï̂Ó̊y– 1 × 5 = 5

S1V !ÓîƒyúˆÏÎ˚Ó˚ !õv˛ÈÙÈˆv˛ !õˆÏúÓ˚ xy£yÓ˚ ~Ñ˛!›˛ ˛ô%!T˛Óï≈Ñ˛ Ñ˛õ≈¢)!â˛–

S2V ˆõî G˛Ó˚yˆÏì˛ ö˛yfi›˛ö%˛v˛ Óã≈ò Ñ˛Ó˚ˆÏì˛ £ˆÏÓ–

S3V ÓƒyÎ˚yõ Ñ˛Ó˚ˆÏú £,î!˛ôˆÏ[˛Ó˚ Ñ˛yÎ≈Ñ˛y!Ó˚ì˛y Ó,È!Âï ˛ôyÎ˚–

S4V ≤ÃyíyÎ˚yõ Ñ˛Ó˚ˆÏú ö%˛¢ö%˛ˆÏ¢Ó˚ Ñ˛õ≈«˛õì˛y Ó,!Âï ˛ôyÎ˚–

S5V ˆÖúyï%ˆÏúy Ñ˛Ó˚ˆÏú !üü%Ó˚ üyÓ˚#!Ó˚Ñ˛ Á õyò!¢Ñ˛ !ÓÑ˛yü áˆÏ›˛–

SáV ò# Ï̂â˛Ó˚ ˆÎyÜy¢ Ï̂òÓ˚ ¶˛!AÜÜ%!ú üòy=˛ Ñ˛ Ï̂Ó˚ñ äÈ!ÓÓ˚ ˛ôy Ï̂üÓ˚ ö§̨ yÑ˛y á Ï̂Ó˚ ˆÎyÜy¢ò!›˛Ó˚ òyõ ˆú Ï̂Öy– 1 × 2 = 2

S1V S2V



Sâ˛V ò# Ï̂â˛Ó˚ ≤ÃŸ¿Ü%!úÓ˚ v˛z_Ó˚ îyÁ– 5 × 2 = 10

S1V fl ∫̨y Ï̂fiÌƒÓ̊ v z̨̨ ôÓ̊ ÓƒyÎ̊y Ï̂õÓ̊ ≤Ã¶˛yÓ Óí≈òy Ñ˛ Ï̂Ó̊y–

S2V ˆõî G˛Ó̊y Ï̂ì˛ Ñ˛# Ñ˛# Ñ˛Ó̊ Ï̂ì˛ £ Ï̂Ó ˆú Ï̂Öy–

SäÈV î%ÈÙÈ~Ñ˛ Ñ˛ÌyÎ˚ v˛z_Ó˚ îyÁÈ É 2 × 4 = 8

S1V ˆÖúy Ñ˛#⁄

S2V  ≤Ãì˛ƒ«˛ !Ó Ï̂òyîò Ñ˛y Ï̂Ñ˛ Ó Ï̂ú⁄

S3V ¢,ãòü#ú !Ó Ï̂òyî Ï̂òÓ˚ ~Ñ˛!›˛ v˛ zîy£Ó˚í îyÁ–

S4V üyÓ˚#Ó˚!ü«˛yÓ˚ v z̨ˆÏjüƒÜ%!ú ˆúˆÏÖy–

S1V S2V S3V

S4V S5V
S6V

SàV ò# Ï̂â˛Ó˚ äÈ!Ó ˆî Ï̂Ö äÈ!ÓÓ˚ ò# Ï̂â˛ ö §̨yÑ˛y á Ï̂Ó˚ ¶˛!AÜ!›˛ üòy=˛ Ñ˛ Ï̂Ó˚ ¶˛!AÜ!›˛Ó˚ òyõ ˆú Ï̂Öy ~ÓÇ ¶˛!AÜ!›˛ ˆÑ˛yò Ñ ̨ #v ¸̨y Ï̂«˛ˆÏeÓ˚

¢ Ï̂AÜ Î%=˛ ì˛yÓ˚ òyõ ˆú Ï̂Öy– 1 × 6 = 6
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